T2EE - Corrigé du devoir en classe de mathématiques lll,1

Exercice 1

a) f(x) = x3+2x2—3x+5—%
condition: x = 0

Di = Dy = R*

(Vx € Dy) : f'(x) =3x2 +4x -3 + 4

XZ

b) f(x) = —2(x2 + 4)® + 1
Di=Dy =R
(Vx € Dy) : fi(x) = —2-6(x2+4)° - 2x = —24x(x?2 + 4)°

— in( X _ i
c) f(x) = cos(2x) +sm(4 + 1) tan(4>
Di=Dy =R
D f(X) = —si : X 1 o Loos( X
(Wx € Dy) : f'(x) = —sin(2x) 2+cos<4 + ‘I) 1 2sin(2x) + 4 cos(4 + 1)

condition: x2 +5x+6 # 0

Azzs—mc:tx¢:%;l:—2mx¢:%;l:—3

Di =Dy = R —{-2;,-3}
(VXEfo):f/(X):_4.< 2X+5 )_ 4(2x +5)

(2 +5x+6)2 ) (x2+5%x+6)>

e) f(x) = x? - sin(x?) — x2
Di=Dy =R
(Vx € Dy) : f'(x) = 2x - sin(x?) + x2cos(x?) - 2x — 2x = 2xsin(x?) + 2x3cos(2x) — 2x

f)f(x) = y-2x2 - 7x-3
condition: —2x2 - 7x -3 >0
+

A=49-24 = 25x, = 1 5:—&M=Zi§:—%

=
S e I
_2Xz_7x_3H - 0 + 0 -
D = [-8-1 JetDs = |-3-1]
(vx e Dy) : f'(x) = —4x 7

2J-2x2 —7x -3



5-2x
9)f00) = 3+4x

condition: 3+ 4x # 0 < 4x # -3 < x % -2
D= Dy =R—{-3

(VX c Df’) : f’(X) _ _2(3+4X)—(52—2X) 4 _ _6_8x_202+ 8X _ _26 :
(3+4x) (3 +4x) (3 +4x)

h) f(x) = x? +2x—1

condition: x2 4x¢0 =S X(x-4) 0= x+0etx+4
Di =Dy = R\ <{0;4}
(2X+2)(x2 —4x) — (X2 +2x—1)(2x - 4)

(x2 — 4x)*
_ 28X+ 2x2 —8x —2x3 +4x? —4x? + 8x+2x—4 _ —6x>+2x—4
(x2 — 4x)? (x2 — 4x)*

(Vx eDy) : f'(x) =

; _ 3% —4x
i) f(x) = T

condition: (x—1)2# 0 = x—1%0 < x = 1
Di =Dy = R {1}

(¥x € Dy) - F/(x) = (6x—4)(x—1)% — (32 —4x) - 2(x — 1) _ xX—1[Ex—4)(x—1) —2(3x? —4x)]

(x=1)* x—1)°
_ Bx?2—4x—6x+4-6x2+8x _ _4-2x
x-1)° (x—1)°

f XP—X

D) = R
condition: x > 0
Df = Df’ = ]0,+OO[

_ Cy2 1 2(2%=1)x-(x>-x)

(vx e Dy) : f'(x) = &= DX - 2% AP —X—x2+x _ 3x2—x _ 3x—1

X X 2 JX XK 2K



